Everyone should complete the first page. If you find this
straightforward then challenge yourself with one or more of the
tasks that follow.
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How many dwarves are there altogether? How many stools are broken?
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There are dwarves altogether. There are broken stools.

How many meals are left? How many black hats are there?
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There are meals left. There are black hats.
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How many glasses are there altogether] How many boots are there altogether?
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There are glasses altogether. There arg boots altogether.
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There are 4 hats in the bag.

How many hats are there altogether?
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There are 10 glasses altogether.

How many glasses are in the box?
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There are hats altogether. There are glasses in the box.
- R T |I :
e °

-aﬁlg ﬁ_ﬁl -.J_I;ﬂ

There are 7 dwarves altogether.

How many are in the garden?
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dwarves in the garden.

There are 4 plates in the cupboard.

How many are there altogether?
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There are plates altogether.

There are 2 flowers in the box.

How many are there altogether?
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There are flowers altogether.
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There are 8 boots altogether.

How many are in the box?
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There are boots in the box




' Solving Word Problems

Holly has 16 chocolates
She eats 4 chocolates.
How many chocolates does Holly have left?
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Holly has chocolates left.

0 Elliott has 8 toy robots.
He buys 3 more toy robots.
How many toy robots does Elliott have now?
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Elliott has toy robots now.
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Sam has sandwiches left.

o Lulu has 14 stamps.
She collects 5 more stamps.

How many stamps does Lulu have now?
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Lulu has

stamps now.




Draw and write your own Word
Problem like the ones you have just
solved (but obviously using different

numbers!)
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